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Full Marks : 90
Time : 4 hours o
The figures in the right hand margin indicate marks

- Candldates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary
[NEW SYLLABUS ]

[Long -Answer Type Questions ]
Answer any twe of the foflewing, taking at least

-one from each Group : 15x2
~ GROUP-A -
" 1. (@) Whatis material implication ? 6
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(b) Explainthe paradoxes of material implication. 4
(c) How can these paradoxes be resolved ? 5

2. (a) What is hypothetical syllogism ? State
the difference between pure hypothetical
syllogism and mixed hypothetical syllogism. 10

(b) Explain with example disjunctive syllogism. 3

(¢) Distinguish between inclusive and exclusive
sense of the word ‘or'. 2

3. What is dilemma? Explain with example the
different ways of refuting dilemma. 5+ 10

GROUP - B

4. Write a short note on the method of agreement.
Is there any limitation of this method ? 10+5

5. What is Crucial experiment ? Discuss whether
crucial experiment is really crucial ? i0+5

6. (o) Explain the different senses in which the
word 'cause’ is used in logic. 16
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(6) What do you mean by singular cause —
Explain. 5
[Semi-Long -Answer Type Questions ]

Answer any five of the followmg, taking at least
two from each Group : 8x5

GROUP-A

7. (a) Reduce the following sentences to standard
form categorical proposition : 2+2

() Every mistake is not a proof of
ignorance.

(ii) She does not give her opinion unless
she is asked to do so.

() Express the followihg in the Boolean notation
and symbolize them by means of venn
diagram : 2+2
(i) SaloneisnotP.

(ii) Everything is non-material.
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8. Use Venn diagram to test the validity 4+4 7

(a) No one present is uneducated. All members
are present. Therefore, all members are
educated.

() No non-residents are citizen. All non-citizen
are non-voter. Therefore all voters are
resident.

9, (a) Prove that: No standard form categorical
syllogism is valid whcih has two negative
premises. 4 .

(b) What. is meant by Fallacy of denying the
antecedent ? Explain with example. 4

10. (a) Given that "All scientists are poets” is true
what may be inferred aboutthe truth and
Falsehood of the following : 242

(i) Some non-scientists are not non-poets

(if) Some non-poets are scientists .

(b) Simple conversion of A proposition is not
generally valid — Explain. 4

-
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11. (a) Distinguish between : L 2+2
| (i) astatementanda statement form.
(i) an argument and an argument form.
() FESAP(' is not a valid mood— prove by
_ venn diagram. 4
| GROUP - B
12. Construct formal proof of validity (any two) : 4 + 4
() H>P)-S>W).. HV ) S(Pv W)

(i) (X)[Hx>(Ex- Dx)]
QAx)(Hy -Sx):. Qx)(Ex- S9

(iii) Gold is valuable. Rings are ornaments. So
gold rings are valuable ornaments.

13. Translate any four of the followmg using
quantifiers, md1v1dual, variable etc (any four)

4
(a) Amanis excited only if he is angry. 2x

(b)) A-man wins if and only if he is lucky

(¢) There are man eaters.
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(d) Any author is successful if and only ifheis
well read.

(e¢) He is coward who deserts.

14. Prove the invalidity of the following : 4+4

(@) ~(E-F)
(~E-~F)>(G-H)
H>G/ : G

(b) Some politicians are leaders. Scine leaders
are not orators. Therefore, some orators are
not politicians.

15. Write a short note on — seven stages of scientific
investigation. . 8

16. Answer any two of the following : 4+4

(a) What is the probability that a 3 or 4 will
show when three dice are rolled once ?

(b) What is the probability of getting four cards
of same colour in successive draws from a
deck of card 7
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(c) What is the probability of rolling three
dice so that the total number of points that
appear on their top faces is 4.

[Short -Answer Type Questions] ~

Answer any five of the following, taking at least
two from each Group : 4x5

GROUP-A

17, Explain at which step the argument commits the

Existential Failacy : . 4

It is true that : No unicorn are animals fo_und
in zoo. '

=, Itis false that : All unicorn are énimals found
in Zoo.

. It is true that : Some unicorn are not amma!s
found in the zoo.

18. Given that the major premise of a valid
syllogism is affirmative and that the major term
. is distributed both in premise and conclusion
while the minor term is undistributed in both,

- determine the syllogism. o 4
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20.

21.

22.

23.

(8)

What is a null class ? Explain with example. 4

Symbolize the following sentences«< 2+2
(a) Ram and Shyan will not both be elected.

(5) Ram and Shyam will both not be elected.

Distinguish between traditional square of
opposition and modern square of opposition. 4

GROUP - B

If A and B are true, and X and Y are false, then
determine the truth value of the following

statements : 2+2
@) (~4v P)-(~Pv D)

) P-X)oB

Use truth table to characterise the following

statement forms as tautology, self-contradictory
or contingent : : 242

@ ~@-P=~Cpv~9

® @eo9=[{Ev 9 =4]
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24. Use truth table to determine the validity or
invalidity of each of the following : 2+2

(@) A x(B>o4)
A >B/: B4

®) E/ - EVF
25, What is bad analogy ? Explain. 4

26. What is the probability of getting at least one
head in the three throws of a coin. ' 4
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